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m2 76 1,218 92, 568
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m2 76 1,246 94, 696
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m2 76 5, 152 391, 552
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m2 76 3,374 256, 424
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m2 99 8, 289 820, 611
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HIEEHYE (B)
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m2 16 1,218 19, 488
REERT ny ) ElidE FKMEART ny) t=8cm
m2 16 8, 794 140, 704
Bkt 1
= 1 2,578, 697
E¥LT
= 1 321, 740
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= 1 1, 849, 970
B () I
15 B ST
m 110 16, 306 1, 793, 660
KTy )
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Akt vvd-y T
= 1 406, 987
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BB-2-3(200)
m 93 9, 556 888, 708
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= 1 16, 100, 473
SN
= 1 16, 100, 473
VA =G X e FEHE W=15cm JE1. 5mm HEK
e Y|
m 4, 540 542.9 2, 464, 766
VA =G X R € A W=15cm JE1. 5mm HEAK
e Y|
m 1,830 578. 4 1, 058, 472
VA =G X € 7777 W=45cm JE1. 5mm HEAK
e Y|
m 590 1, 368 807, 120
VA G X R HE KA - 525 - 305 W=15cm
A 1. 5mm HEK VAT
m 2,140 1,235 2, 642, 900
X B E = D=y 2y 3
m 8, 245 1,107 9,127,215
= 1 2, 980, 242
/NIRRT
= 1 1, 357, 472
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275K i i R
m 25 72, 498 1, 812, 450
TE AT R Rk 1
= 1 8,989, 314
E¥LT
= 1 23,216
r=7" WL T
= 1 87, 798
LBr=7" ML
m 14 2,746 38, 444
257" VELE
m 5 4,730 23, 650
NSO FEP30
& 4 1,734 6, 936
NSO FEP65
& 2 9, 384 18, 768
TR T
= 1 544, 209
TRAR AT FERRERR &
15 PR R LA
H 1 100, 385 100, 385
MRAR AT SRR &
275 HE A AL
H 1 100, 584 100, 584
15 B
H 2 171, 620 343, 240
B3t i s 1
= 1 8,334, 091
HEEE L
= 1 53, 842, 981
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Pk s 1T
= 1 2,876, 646
b JrEE
#% 20 47,635 952, 700
b PR
#% 2 240, 168 480, 336
B SR JHHIER ¢ 600
H 15 4,418 66, 270
b I ER450 X 450 B 150 X
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H 20 4,418 88, 360
b ZNEE2600 X 3300
#% 20 64, 449 1, 288, 980
e B LT
= 1 4, 500, 166
/) ) -MEIEBUE L ARG E
m3 300 14, 973 4, 491, 900
AR BT TAT7VMEREERR t=15cm% #8 % 30cm
LUF
m 4 1,791 7,164
Al AR TAT7VMEREERR t=15cm% #8 % 35cm
LUF
m2 1 1,102 1,102
ARPTE S
= 1 161, 269
kT ny p i t=6cm
m2 73 1, 888 137, 824
kT ny p i t=8cm
m2 6 1, 888 11, 328
FEA vy —-hik
m3 5 1,785 8,925
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[z ES t=3cm
m3 2 1,596 3,192
JEE B T
= 1 805, 230
ARG R B H=1. Om
m 69 11, 670 805, 230
TR
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15 AR
H 5 78, 000 390, 000
TR T
= 1 42,934, 910
A #JE90cmPL |
VN 10 156, 398 1, 563, 980
P20 EARERJE60cmEL_FI0cmA
VN 25 182, 166 4, 554, 150
EVNES 16 /81200emPL_E300cmATi
VN 40 25,917 1, 036, 680
LN EN Hf i 100em _1=200emA i
VN 2,100 12,953 27, 201, 300
LV N EN i 60cmEl_E100cmzA
VN 2, 400 2, 590 6, 216, 000
Mgk
m2 1, 200 1,969 2, 362, 800
TEHR LB T
= 1 2,174, 760
PRauRiiig av9Y)=hik (IE57)
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I TAT 7 Wbk
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UG8 A6 dh B AR i B 0. 84t
= 1 18, 585
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MR E
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= 1 1,788, 192
et By
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